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6. The classification of school academics (e.g. college of management, engineering,
design, etc.) is an example of measurement. (4%)
| (A) Nominal
(B) Ordinal
| (C) Interval
X (D) Ratio
' (E) None of the above

7. Which of the following statement is/are false? (4%)

. (A) When the population follows.a normal distribution, X follows a normal
distribution, too.

(B) X is approximately normally distributed, when the sample size is large
' enough.

(C) Wheng is unknown, X follow a t-distribution.

8. Which of the following methods will enlarge the width of a confidence internal?
(4%)

(A) Increase the confidence coefficient.

(B) Increase the sample size.

(C) Have a larger sample variance.

9. When doing a hypothesis test, Hy: < 30 vs. H;: 4>30. Which of the following
| statements is/are incorrect? (4%)
(A) The maximal value of the probability of making a type I error occurs when )
i u>30, ‘ E!
(B) When the p-value of the sample result is smaller than the significance level,
the Hy s rejected. N
(C) If the significant level is smaller, then the power of the test is large. ‘

10. When multicollinearity exists, which of the following statements is/are incorrect?
@%)
{(A) The overall F value is not likely to be significant.
(B) No predictions of the dependent variables should be made.
f '(C) The estimated regression coefficients tend to have large standard errors and
small t values.

4 e Ppw wm ee— e

(D) R-squared will tend to be smaller than if no multicollinearity exist.
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11. In brief, explain the following two situations when model selection. (10%)

(A) How Mallows C;, can be utilized in the selection of the best subset model.

(B) What are the disadvantages of using R® as a measure to compare competing
models. '

12. Given the following complete factorial sources and sum of square for an
experiment with 3 level of Nitrogen (N) fertilizer and 5 herbicides (H) and 4
replication, complete the analysis of variance table below. The experiment is

set up as split-plot in a completely randomized design with herbicides as whole
plots and Nitrogen levels as subplots. Assume a fixed model. ( a =0.05).

(20%)

Source _ 88 |
Rep 10
N 100
H 80

Repx N 20
RepxH 30
NxH - 40
RepxNxH 10

. . ANOVA (split-plot)
Source __df - SS MS F
hY
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1. List and describe three Internet business models for electronic
commerce. Distinguish between a pure-play Internet business model

and a clicks-and-mortar business model.(20%)

2. What is Kelly’s personal construct theory? How to build a repertory
grid matrix by an example to explain. (15%)

[

3. What is hybrid Al system? Please list three application products and

" describe what methods are used. (15%)

| 4, 3FHOA4E R artificial agent (AA) R electronic supply chain

management (E-SCM) 2 4£2:? (15%) #£#HH—HB AT (5%)

D. HHBLRALMURETRALTREE A AHME ~ AREBFFo

FHEEHEEN KPR A RIEARRR ?(20%)
6. 2% MBS TN ABARY » 7RGS0 kAo R BB S

. BRI K, o SRR R U A o R R S B R
EwgEE AT ? (10%)
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A.POP B. EDI C.MUD . D. ISDN

E. HTTP F. Analog G Portal H. Packets

I. Star topology J. Multiplexor K. Handshaking L, Microwave signal
M. Flaming N. Firewall '

1. establishing a link between source and destination
2. digital communications link

3. line of sight

4, network that involves a centralized host

5. intercompany networking

6. concentrates signals from low-speed devices

7. telephone line signal

8. an access point to the Internet

9, the primary access method for interacting w1th the WWW
10. adventure games

11. strings of bits

" 12. Infoseek, Yahoo, Exite

13. restricts access to a-network

14. barrage of messages on Net

~a

= B L 437 SSRE2 5 0 ESETEN - (86%).

1. “Sort,” “average,” and “report” would be terms that would best be associated with
(a) database software. ~ (b) word processing sofiware.
(c) presentation software.  (d) idea processor software.

2. What type of memory is-included in /O devices that lets the user load vendor
software upgrades directly to the system?
(@)ROM  (b)cache (c) flash memory  (d) promenade memory

3. The concept of using multiple processors in the same computer is known as
(a) dual processing. (b) perpendicular processing,
(c) multi-processing. (d) parallel processing,

4, Disk processing-implies
(a) non-concentric circles. (b) random or direct processing.
(c) sequential processing. (d) serial processing.

Al
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5. A32X CD-ROM drive
(a) holds ten times the data of the original CD standard.
(b) holds up to ten CD-ROM disks.
(c) spin thirty two times faster than the original CD standard,
(d) is the tenth generation of CD-ROM drives.

6. When a person refers to a monitor’s resolution, they are referring to
(a) the screen size.
(b) its quality of output. ‘
(c) the number of rows and columns of characters that can be displayed on the
screen at one time,

(d) the number of colors that can be displayed.

7. The electronic link between the motherboard and the monitor is the
(a) graphics block. (b) graphics adapter. (c) graphics array. (d) graphic link.

8. Which of the following is not one of the three basic hardware components in a
PC-based LAN?

(a) NIC (b) token-net (c) network cables (d) server

Pl

9. The kernel in an operating system
(a) is “swapped” in and out of primary storage as needed.
(b) compiles source programs.
(c) loads other system progrzims to primary storage as they are needed.
(d) eliminates the need for computer operators;.

10, Multitasking is made possible by the great difference in processing speed and
(a) the speed of the instruction register. (b) the speed of cache memory.
(c) the speeds of the peripheral devices. - (d) the speed of the program register.

11. Which of the following is not true?
(a) Mainframe and micro operating systems differ in complexity and orientation.
(b) Most micro operating systems are designed to support a single user.
(c) Mainframe operating systems may perform the concurrent execution of dozens

of programs.
(d) Micro operating systems may monitor interaction with hundreds of nodes in a
network. i

I | [



BIHGIER
[

HILIERPTEIKRE R RER
NTEEFEEET A SREEHZE FIE : SRR (F)

12. During the PC power up sequence, the operating system is loaded from disk
storage to

(a) ROM. (b)the external memory. (¢} RAM, (d) the internal matrix,

13. The bit-mapped file format introduced for Windows PC Paintbrush files is
) (@) PCX. (b)) XCP. (c)PNG (d) JPG.

14, When discussing multimedia computer applications, the term MIDI stands for
(a) Master Interface Digital Image.
(b) Multimedia Instrument Digital Interface.
(¢) Multimedia Interface Digital Instructions.
(d) Musical Instrument Digital Interface.

15. Flexibilityis often built into the knowledge worker’s work environment to avoid
which one of the following?
(a) consolidated terraform disability (b} cumulative trauma disorder
(c) collapsed tunnel distortion (d) conformative task discharge

16. Most computer crimes are classified
(a) as computer fraud. (b) under computer monitoring.
(c) as a form of computer caching,  (d) as physical distortion.

17. The transmission protocol for transmitting data securely over the WWW is called
(a) Secondary Source Level. (b} Secure Sockets Layer,
(c) Secure Sender Link. (d) Security Station Layer.

- ‘ .
18. Which of the following would not be associated with a decision support system?
(a) query languages (b) forecasting models
(¢) routine transaction processing (d) color graphics

19. What is the result of converting the infix expression
atb*c+(d*et+f)*g
into postfix?
(aab+c*def*+g*+ (byabc*+def+*g*+
(c)abc*+de*f+g*+ (dabec+*de*f+g+*

20. What is the maximum number of nodes in a binary tree of height H?
(@) 2"+1 ®2"-1  (@2"'+1 (@2 -1

I
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* 21. Which one of the following is not a method to resolving hashing collisions?
(a) primary clustering (b) separate chaining
(c) hash bucket (d) open addressing

22. Consider a leftist tree with r nodes on the right path, What is the minimum number
of nodes in the leftist tree?
@2 "-1  ®2-1 @21 @2 t+1

23. Which one of the following sorting methods has the best average running time?
(a) proxmap sort (b) heap sort
(c) quick sort - (d) bubble sort

24, Physical data independence is the capacity to
(a) change the conceptual schema without having to change the external schema.
(b) change the internal schema without having to change the conceptual schema.
(c) change the external schema without having to change the conceptual schema.
(d) change the conceptual schema without having to change the internal schema.

25. Which one of the following statements about entity-relationship model is true?

(a) A weak entity type always has a partial part1c1pat10n constraint with respect to
its identifying relationship.

(b) The owner entity type of a weak entity type must be a strong entity type.

(c) An attribute A of entity type E whose value set is V can be defined as a
function from E to the poWer set P(V) of V;

A:E-P)

(d) The degree for a binary relationship specifies the number of relationship

instances that an entity can participate in.

26. Suppose we want to create a linear hash file with a file load factor of 0.7 and a
blocking factor of 20 records per bucket, which is to contain 112,000 records
initially, How manf buckets should we allocate in the primary area?

(a) 4200 (b) 5600 {c) 6400 {(d) 8000

27. A file has r = 20,000 STUDENT records of fixed length. Each record has the
following fields: NAME (30 bytes), SSN (9 bytes), ADDRESS (40 bytes), !
PHONE (9 bytes), BIRTHDATE (8 bytes), SEX (1 byte), MAJORDEPTCODE (4
bytes), MINORDEPTCODE (4 bytes), CLASSCODE (4 bytes, integer), and
DEGREEPROGRAM (3 bytes). An additional byte is used as a deletion marker,

I
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The file is stored on a disk whose block size is 512 bytes. Assuming an unspanned
organization, what is the blocking factor?

(a) 6 ()3 (c) 4 (d)3

28. Consider a disk with block size B = 512 bytes. A block pointer is P = 6 bytes long,
and a record pointer is Pg = 7 bytes long. A file has r = 30,000 EMPLOYEE
records of fixed length. Each record has the following ficlds: NAME (30 bytes),
SSN (9 bytes), DEPARTMENTCODE (9 bytes), ADDRESS (40 bytes), PHONE
(9 bytes), BIRTHDATE (8 bytes), SEX (1 byte), JOBCODE (4 bytes), SALARY
(4 bytes, real number). An additional byte is used as a deletion marker, Suppose
that the file is ordered by the key field SSN and we want to construct a primary
index on SSN. What is the index blocking factor?

(a) 26 (b) 34 (C)42 (d) 54

29, Which one of the following statements al;out relational model is true?
(a) Tuples in a relation are ordered.
(b) Akey K of arelation R is a subset of K’s attributes such that, for any two
distinct tuple t; and t; in a relation state r of R, we have the constraint that

t1[K] = to{K] . '
(c) Arelation r(R) is a proper subset of the Cartesian product of the domains the
define R.

(d) A set of attributes FK in relation.schema R is a foreign key of R, that
references relation R; if it satisfies the following two rules:
(1) The attributes in FK have the same domain(s) as the primary key attributes
PK of Rz.
(2) A.value of FK in a tuple t; of the current state rj(R;) either occurs as a
value of PK for some tuple t; in the current state r»(R;) or is null.

30, Which one of the following sets of relational algebra operations is a complete set?

(a) {cl Y- X} (b) {0’, T WM, —}
(C) {G’, U, 0, - X} (d) {U, N, =, %, -:-}

31. Which one of the following statements about relational database is true?
(a) AdecompositionD = {R;, Ry, ..., R} of R is dependency-preservation with
respect to F if the intersection of the projections of F on each R;in D is
equivalent to F; that is

(@R F)) O ... (TraF))) = F*
(b) A decomposition D = {Ry, Ry, ..., Rip} of R has the lossless join property with

m
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respect to the set of dependencies F on R if, for some relation state r of R that
satisfies F, the following holds, where * is the natural join of all the relations
inD:

‘ *(maa(r), ..., TRM(T)) =1

(c) Arelation schema R is in fourth normal form (4NF) with respect to a set of
dependenciés F if, for every nontrivial functional dependency X ~» Y in F¥, X
is a superkey for R, .

(d) Arelation schema R is in fifth normal form (SNF) with respect to a set F of
functional, multivalued, and join dependencies if, for every nontrivial join
dependency JD(Ry, Ry, ..., Ro) in F¥, every R is a superkey of R.

32. Which one of the following statements about database security is true?

(a) Mandatory security mechanisms are used to grant privileges to users,
including the capability to access specific data files, records, or fields in a
specified mode (such as read, insert, delete, or update).

~ (b) Discretionary security mechanisms are used to enforce multilevel security by
classifying the data and users into various security classes (or levels) and then
implementing the appropriate security policy of the organization.

(c¢) Security for statistical databases must ensure that information on individuals
cannot be accessed.

(d) The security mechanism of a DBMS must include provisions for restricting
access to the database system as a whole, This function is called data
encryption.

A ) ‘

33, Consider the universal relation R = {A, B, C, D, E, F, G H, I, J} and the set of
functional dependencies G = {{A, B} — {C}, {B, D} - {E, F}, {A,D} = {G
H}, {A} — {1}, {H} — {J}}. What is the key for R?

(a) {A,B,D} (b) {A,D, H} (© {B,D} (@ {A, D}

34. Which one of the following statements about computer networks is true?

(a) Before sending a packet into a datagram network, the source must determine
all of the links that packet will traverse between source and destination.

() The application and transport layers of the Intemet protocol stack are
implemented in the end systems but not in the routers in the network core.

(c) The Intemet provides its applications two types of services, a TDM service
and a FDM service.

(d) ADSL bandwidth is shared.
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35. Which one of the following statements about computer networks is true? ]
() Network News was present in the Internet before the emergence of the World ' ’
Wide Web.
(b) The HTTP protocol was invented at Netscape in the early 1990s.
(c) Ethernet is a popular residential Internet access technology.
(d) Twisted-pair cooper wire is no longer present in computer networks.

36. Which one of the following statements about computer networks is true?

(a) If an HTTP request message uses the “Accept-language: f”’ header, and the
server only has an English version of the object, then the server will retum the
“404 Document Not Found” error message.

(b) With SMTP, it is possible to send multiple mail messages over the same TCP b
connection. )

(c) A server can use cookies to.determine a user's postal address without the user's
consent.

(d) The Web typically sends multiple objects in a Web page within a multipart
MIME message.

37. Which one of the following statements about computer networks is true?
(a) With POP3 client, user folder information is kept on the mail server.
(b) With non-persistent connections between browser and origin server, it is
possible for a single TCP segment to carry two distinct HT'TP request
messages.

. o |
(c) DNS lookups often involve a combination of recursive and iterative queries.
(d) The ‘“Date:” header in the HTTP response message indicates when the object i

in the response was last modified.

38. Which one of the following statements about computer networks is true?

(a) Consider an HTTP Web server using persistent connections. Suppose the
server spawns a separate process for each client that connects to the server.
Then each of these spawned processes will have different server port numbers.

(b) Host A is sending host B a large file over a TCP connection. Assume host B
has no data to send A. Host B will not send acknowledgements to host A
because host B cannot piggyback the acknowledgements on data,

(c) Suppose host A is sending a large file to host B over a. TCP connection., If the
sequence number for a segment of this connection is m, then the sequence
number for the subsequent segment will necessarily be m+1.

(d) The TCP segment has a field in its header for receive window.

I
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39. Which one of the following statements about computer networks is true?

_ (a) Suppose host A sends host B one segment with sequence number 38 and 4
bytes of data. Then in this same segment the acknowledgement number is
necessarily 42.

(b) In TCP, the acknowledgement number that a host puts in a segment is the
sequence number of the next byte the host is expecting from the sender.

(c) Suppose that host'A wants to send data over TCP to host B, and host B wants
to send data to host A over TCP, Two separate TCP connections - one for each
direction - are needed. ’

(d) The MSS is the maximum size of a TCP segment including headers.

40. Which one of the following statements about computer networks is false?

(a) With a virtual-circuit network layer, packet switches are involved in virtual
circuit setup, and each packet switch it aware of the VCs passing through it.

(b) With a datagram network layer, each packet carries the address of the
destination host,

(c) In the BGP (Border Gateway Protocol) routing algorithm, each AS
(autonomous system) advertises to its neighf:)ors its estimates of the shortest
distances from the AS to all possible destination ASs. -

(d) In a distance-vector routing algorithm, each node has a map of the entire
network and determines the shortest path from itself to all other nodes in the
netwoi'k.

41. Which one of the following statements about computer networks is false?

(a) Single-homed hosts have one interface and routers typically have two or more
interfaces.

(b) A gateway router must run both an intra-AS routing algorithm and an inter-AS
routing algorithm.

(c) The network portion of an IP address is the same for all the hosts on the same
IP network.

(d) Every autonomous system must use the same intra-autonomous system routing
algorithm.

42. Which one of the following statements about computer networks is true?
(a) Each LAN adapter has a unique LAN address.
(b) All link layer protocols that support IP have the same frame structure (i.e.,
length of frame, number and length of header fields).

T EEEY
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(c) CRC error detection, as used in Ethernet, is always able to detect whether
there is an error in a frame.
(d) The even parity bit scheme can correct single bit errors.

43. Which one of the following statements about computer networks is true? |

(a) Consider a twisted-pair Ethernet in which all nodes are 50 meters from the hub.
The time it takes for a bit to propagate from hub to node for a 10BaseT
Ethernet is ten times longer then for a 100BaseT Ethernet.

(b) Consider a computer network consisting of several interconnected 10BaseT _ I
hubs, but which does not include any bridges or routers. Then this network has
only one collision domain.

{c) The entries in a bridge table need to be configured by the network

administrator,
{(d) PPP excludes certain bit patterns in the network-layer packets that it carries.
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(1) DUFA0E HTML BRI TE TR IERE 2
(A) <br> FIZREMEHTAVINED (tag)
(B) <callback>R-~{BFEREE (form) rhigE FEIiEst A BB -8
(C) <table> 2 FlZRBMEFASHIAISE
D) <! >EANA R

(2) DATWE—EIFE & LRERES CGIAYES ?
A)C
(B) Scheme
(C) Visual Basic
(D) XML

(3 LUFHE Eﬁ%%ﬂ%ﬂﬂﬁ%ﬂﬁ#&ﬂﬁ ADIERE ? ;
(4) C FBETRERMFR A SR HRIBIRERT R SRS
(B) —{EhZ BRI B G IR B FIE (8 R R BURRAY N E (interface )
(C) AT BRI HER S, - MBS BRI '
(D) HZCEHEENE BT

) BAUTGHETT Web FENNIHRER EERIRERIRTT ?
(A) FHEY session BHIE
(B) HEY HTML #%%8
(C) f87F Cookies
O) FERE (form) ZH

() T ERYAHEMERGE SRR AEIERE ?
(A) class variables BT ER| ES{FHUEE 4 BRI R T EE £ BRYEK
(B) A @746 B fitif - et A FY4 has-a B FEY{HIR » HEK AW
A B RS B YR F52%1 (instance variable )
(C) CHEEE IR L EHHA (multiple inheritance )
(D) —{ERERY (class) HHAT LG -BIEAE RIRIY42K

TR T SR e e

(6) _____ examine the port number field of each arriving packet’s encapsulated TCP
segment.
(A) Switched hubs (B) Layer 3 switches
(C) Layer 4 switches . (D) Gateways
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(7) Which one of the following protocols is defined in the OSI architecture?

(A) POP3 (B) TCP (C) IP D)LLC
(8) Using a local variable to retain data from one call o a function to the next
is a poor programming practice. ) .
(A) auto (B) static (C) register (D) extern
®A is a set of n=0 disjoint trees.
(A) B-Tree (B) heap (C) forest (D) selection tree
(10) Which one of the following data structures is more suitable for solving a mazing
problem?
(A) Queues (B) Stacks (C) Lists (D) Arrays
(11) is the evaluation of alternative problem solutions, and the detailed
specification of the final solution.
(A) Planning (B) Analysis (C) Design (D) Implementation
(12) are a favorite tool for documenting process or activity requirements for a
new system.

(A) Location Connectivity Diagrams (LCDs)
(B) Entity Relationship Diagrams (ERDs)
(C) Data Model Diagrams (DMDs)

(D) Data Flow Diagrams (DFDs)

(13) Which one of the following languages is used by the DBA and by database
designers to défine conceptual schemas and internal schemas?
(A) Data Definition Language (DDL)
(B) Storage Definition Language (SDL)
(C) View Definition Language (VDL)
(D) Data Manipulation Language (DML)

(14) Decision Support Systems belong to which level of the following information
systems?
(A) Operation-Level Systems T
(B) Management-Level Systems
(C) Knowledge-Level Systems

(D) Strategic-Level Systems
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(15) What is the return value of fun(6)?
int fun(int n)
.y
int i, f0, fl, temp;
if(n=0]|n==1)
temp = 1;
else {
f0=1;
fI'=1;
for (i=2;i<=n;it++) {
temp = fl;
f1 =f1 + f0;
f0 = temp;
}
temp = fl;
}
return temp;
} — !
(A) 13 B) 21 ©) 28 (D) 34 ¥

= HEE (1093)

(1) fAT58 XML » Valid XML » B XSL? 534h » XML FTLUREFZEbLes 8 7 (10%)
() FLLEERAA Microsoft Net Framework BYZRERA 7 AR AHPLEE ’fﬁﬂﬁﬁfﬁ?ﬁ%

fAr? (10%) f
(3) fAIEE Knowledge Management (KM) ? E%tf'cﬁ{@?(ﬁf’r\)ﬂﬁﬁﬂfﬁl Féﬁ% KM 8RR
EHYRR) B TR B AIIE 2 (10%)

(4) FEHA CESHEE RN - EEEREEZ (Enain) 1 stdin A=A
i SEERE —EGEE calculate By (funtion) » calculate H A EIZ
B Hoh A EHE = EEEERENETS - EEZUKFH calculate FHHHE i
PSS/ N IR S > BRI stdout - (10%) L
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1. fEfER C B Scheme 355 » SR —EER - E R AIEE BGE B 1
[ 49 (OB HIR A —{H8 &S num_list fEF1( List or Linked List)r - (10%)
\

2. 58 8 SRR ERERE o R num list EPRRAGR
M =R SRR (FE20EER num_list -REYEISR e 1 E] 49 A5
B - FERHMEREREALE TR @R num3 FUREH - (10%)

3. LR FEEER— (i IR (tail recursion) JSEERBRHIBER » &
fEEEZAA num_list E{EAER - M EEFATEMTENR (E20ER
num_list FEYERE 1 2] 49 MRE) - MR EREAEEEF
45 sum KRR - (10%) -
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1. Write a program to generate the sequence of positive intergers (in increasing
order) whose only prime divisors are 2 and 3, that is, your program should
produce the sequence 2, 3, 4, 6,9, 12, 16, 18,24, 27, .... (20 43)

2. Design an algorithm, given a list of five or more numbers, finds the five smallest
and five largest numbers in the list without sorting the entire list. (20 43°)

3. WORRMBEMEERT - BEERE A TIIRMENRFFEF—E B
fHRE? (10 43)
(1) Insertion Sort
(2) Selection Sort

4, FEEEM{7¥l(double ended queue, deque) » fEFFHHA 1,2, 3,4, 5 2% » LT
ﬁmﬁlﬁaﬂﬁﬁw IEREYRE ? (15 57)

5. B —(EBE AR A TR A, - TR S B
ZIHEN - AR - R - TR e A SEE BR  BIFE R R ARG
ZETREETARIREE - (1557)

6. $t¥H A, B, C, D IE{EFFSRATHHEAIF R DBDCADCCBDCD HE{TERS
(Huffman) 315 » FFHHE A, B, C, D Ay /NJT %1 (minimal redundancy
code) ? FHEHIHEAIEE - 204)
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1. Proofthat forall setsA,B,andC, (A U B)-(C-A)=A U B-C).

2, Define f: R 2 Rand g: Z - Z by the rules
f(x)=4x~1forallxinR and
g(n) = n? forallnin Z.
a. Is fone-to-one? Prove or give a counterexample.
b. Is g one-to-one? Prove or give a counterexample.

3. Show that the sequence 1,-11,21,-31,41,..,¢-1)"nl,..., foralln=0,
satisfies the recurrence relation
S, =-k x §,_, forallintegersk = 1.

4. Let R, be the “divides” relation on the set of all positive integers and Iet R; be the
“divides” relation on the set of all integers.
Foralla,binZ',aRib <> a|b.
Foralla,binZ aR:b <> a|b.
a. Is R, anti-symmetric? Prove or give a counterexample.
b. Is R; anti-symmetric? Prove or give a counterexample.

5. Prove that if a graph has an Euler circuit, then every vertex of the graph has even
degree. )

6. Pl “c—F form* fHEfE Li_rgx"’ #8

7. BCREEAR 3 JTEE 5 JTRVE A, AT SRR TR 8 T 8 T
LA ERIERR.
8. DIEEF 1,2,..,10 in—EFAFFHEHLE 3 @IEA0HSFE ENEIR 18,

0, SREBHIET 4,44, +44_, =3x2", Ht 4, =1,4=7.

10.54 FFIEIRRARE
111 5 8
(9 9 8 1
tIO 3 5 10|
1 13 12 11
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1. EEAES (RERFTURIEIRE » FEfFIat 4 ? R iEan R S s (R
PHIATHIR AR ? S3OMESRE R S S Er i BB LA
& BIARREES M R TATEUS HTRr & - HZER THASERIRIHN ; SARS
SRR - TSR USB FESTRER T THMERERIA - E3EHEFS
B FF - FrEatE e Em R o TS5 ?

2.

(1) {57 SDLC ? —jf SDLC RS RLER R (models) ? F{EAIRRAAEEAR
AR HEPEEGEARE 2 (1049)

() BAFIRGEA SDLC PR HHSE 7 ARSI ? RS M LS
RS ? R 7 SR ARIREA SDLC » FHERFAREARE ? M8THA0
A ? FFE BT ARELALREE - (15 )

3. What is change management and why is it important? Give an example to explain,

4. Situation: The IT director opened the department staff meeting today announcing
that management has approved the payroll system project this morning. It is
hoped that the new system will reduce clerical time and errors, improve morale in
the payroll department, and avoid possible fines and penalties for noncompliance.
However, the system must be installed by the end of May in order to meet new
government reporting rules, costs must be within the budgeted amount, the new -
system must interact with existing systems.

Please identify tangible and intangible benefits of the new payroll system.
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